Ne 308 (a)

X% <16

X - 16<0

a>0, BeTBM Hanp.BBepX
X% -16 =0

(X-4)(x+4)=0

X=4 X=-4

Ne 308 (e)

7X < X2

X2 -7x>0

a>0, BeTBU Hanp.BBepX
X2 -7x=0

X(x-7)=0

X=0,x=7

VA

(- 00;0)U(7;+00)




Ne 315 (B)

4)(2 +12x+9=0
(2x+3F = 0
a>0,BeTBM Hanp.BBepx
2X+3=0

2X=-3

X=-1,5

[l = 144 — 4*4*9 =0
x=-12/8=-3/2=-1,5

-1,5

X —noboe vncno



1).)%-5X+6<O 3).X2-5X+EZO

1. X -5X+6>0 2 X -5X + €< O

5).X2-3X—42 0




m4xt5x+9<0

7)X 6X+9= 0




NINMCT PE3YJIBTATOB :
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MeToa nHTepBanos.

e f(x)=(x+2)(x-3)(x-5)
e f(x)=0, x=-2,x=3,x=5.

x + - ./

3 -2 1 3 4 5 6 X

e f(x) = (x- a)(x-b)(x-c)...(x-k)
*a,b,c...k—Hynn yHKLUN



(X+6)(X+1)(x-4)<0

OtBeT: (- -6) U (-1;4)



X(0,5-X)(x+4) =0
Xx=0, Xx=0,5, x=-14

ﬁ +« c—/‘—/

-4 0 0,5 X

OTtBeT: (- ; -4]U[0;0,5]



CerogHsa A y3Han ...

Tenepb a mory ...

A BbInoONHAN cam ...

A noHan yTo ...
BbINo MHTEpecHoO ...

Y MeHs nony4unocs ...

bbino TpyaHo ...
MHe 3axoTenocso...
A cmor ...

A nonpobyto ...
MeHa yomBuno ...

Pedonekcus



